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Excel VBA

Excel

Dim gsky() As Double

ReDim gsky(n_skyline)

VBA
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Private Sub CommandButtonl Click()

Dim i As Integer

Dim j As Integer

Dim k As Integer

Dim F_cel

Dim i_free As Integer

Dim j_free As Integer

Dim memb As Integer

Dim iexit As Integer

Dim istable As Integer

Dim mx As Integer

Dim n_point As Integer *
Dim n_Member As Integer *
Dim n_Element As Integer *
Dim n_kyokai As Integer *
Dim n_M_load As Integer *
Dim n_P_load As Integer *
Dim Point() As Double -
Dim Member() As Integer *
Dim Element() As Double *
Dim Kyokai() As Integer *
Dim Load_M() As Double *
Dim load_P() As Double *
Dim F_rest() As Integer *
Dim nsum_d() As Integer *
Dim n_free As Integer -
Dim n_max_sky As Integer *
Dim gsky() As Double - 1
Dim gsky_d() As Double "LDU
Dim disp() As Double -
Dim pload() As Double *
Dim nwork() As Integer *
Dim twork() As Double *
Dim al() As Double -
Dim sin_cos() As Double * sin® co0sO)
Dim C_M_QQ As Double *
Dim ak(6, 6) As Double *
Dim akk(6, 6) As Double *
Dim R(6, 6) As Double )

SPACE SPACE



4-12

n_point = Range(*'B3").Value

n_Member = Range(''B4").Value
n_Element = Range("'B5").Value
n_kyokai = Range(''B6").Value
n_M_load = Range(''B7").Value
n_P_load = Range(''B8").Value

ReDim Point(2, n_point)
ReDim Member(3, n_Member)
ReDim Element(3, n_Element)
ReDim Kyokai (4, n_kyokai)
ReDim al(n_Member)
ReDim sin_cos(2, n_Member)
ReDim C_M_Q(3, n_Member)
If (n_M_load <> 0) Then
ReDim Load M(4, n_M_load)
End If
If (n_P_load <> 0) Then
ReDim load P(4, n_P_load)

F cel = "E2"

For i = 1 To n_point

Point(1, 1) = Range(F_cel).Offset(i, 0)
Point(2, 1) = Range(F_cel).Offset(i, 1)
Next

F cel = "12"

For i = 1 To n_Member

Member(1, 1) = Range(F_cel).Offset(i, 0)
Member(2, 1) = Range(F_cel).Offset(i, 1)
Member(3, 1) = Range(F_cel).Offset(i, 2)
Next

F_cel = "N2"

For i = 1 To n_Element

Element(l, i) = Range(F_cel).Offset(i, 0)
Element(2, i) = Range(F_cel).Offset(i, 1)
Element(3, i) = Range(F_cel).Offset(i, 2)
Next

F_cel = "R2"

For 1 = 1 To n_kyokai

Kyokai(1, 1) = Range(F_cel).Offset(i, 0)
Kyokai(2, 1) = Range(F_cel).0ffset(i, 1)
Kyokai (3, 1) = Range(F_cel).Offset(i, 2)
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Kyokai(4, 1) = Range(F_cel).Offset(i, 3)
Next

If (n_P_load <> 0) Then

F_cel = "w2"

For i = 1 To n_P_load

load_P(1, 1) = Range(F_cel).Offset(i, 0)
load_P(2, 1) = Range(F_cel).Offset(i, 1)
load_P(3, 1) = Range(F_cel).Offset(i, 2)
load_P(4, 1) = Range(F_cel).Offset(i, 3)
Next

If (n_M_load <> 0) Then

F_cel = "AB2"

For i = 1 To n_M_load

Load_M(1, i) = Range(F_cel).Offset(i, 0)
Load_M(2, i) = Range(F_cel).Offset(i, 1)
Next

Call Cal _Yobi(F_rest, n_point, n_kyokai, Kyokai, n_free)
Range("'B20") = n_free

ReDim nsum_d(n_free)
Call Set_sky table(n_free, F_rest, nsum_d, n_Member, Member, n_skyline)
Range("'B21"™) = n_skyline
- 3 sin® cos©
Call Al_member(n_Member, Member, Point, al, sin_cos)
Range("'A18").value = " "

ReDim gsky(n_skyline)
ReDim gsky_d(n_free)
ReDim disp(n_free)
ReDim pload(n_free)
ReDim nwork(n_free)
ReDim twork(n_free)

For memb = 1 To n_Member
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mx = Member(3, memb)

Call Cal_k(memb, ak, al, mx, Element)

Call Cal_rot(memb, R, sin_cos)

Call Cal_all _rot(ak, akk, R)

Call Build_sky k(memb, gsky, akk, F_rest, nsum_d, Member)

Call Decomp_sky(n_free, nsum_d, gsky, gsky d, nwork, twork, iexit, istable)
Range("'B22") = iexit

Range("'B23") = istable

IT (iexit <> 0) Then GoTo Err_C

Range('A18").value = "

I (n_M_load <> 0) Then
Call Set_load M(pload, n_M load, Load M, C_M_Q, al, Member, F_rest, sin_cos)
End If

If (n_P_load <> 0) Then
Call Set_load_S(pload, n_P_load, load_P, F_rest)
End If

GoTo End_C

Err_C:
Range(''A18").Value = "
End_C:

End Sub
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Private Sub Set_sky zero(n_skyline, gsky)
Dim i As Integer

For i = 1 To n_skyline

gsky(i) = 0o#

Next

End Sub

Private Sub zero_pload(n_free, pload)
Dim i As Integer

For i = 1 To n_free

pload(i) = 0#

Next
End Sub

Private Sub zero_CMQ(n_Member, C_M_Q)
Dim i As Integer
Dim j As Integer

For i = 1 To n_Member

For j =1 To 3

C_MQGU, 1) =0#

Next

Next
End Sub
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